www.staredu.co.kr

STAR TOEIC

EH 200 Hj

O

Al ™I E L Ct.

.
o

ol 74
0o/

g%

.
o

HE0 2



www.staredu.co.kr

1. Many corporations have been always complaining about
the ------- and trouble of operating systems.

(A) expensive

(B) expend

(C) expense

(D) expended

[RE C
[BiA] B2 7[QIS0| S HIRI 2 AJAHO| CHSHA

S oSl O},

[015]]

corporation 7|¢, 2|A}
complain =Eo}LC}
expense H|&

2. Our innovative network solution TX-2700 enables you to
make your services ------- anywhere in the world.

(A) availably

(B) availability

(C) availableness

(D) available

[EE]D

[6iAM] 22|o YAXQl HEXI £FMQl TX-2700 2
Sz 5t0g TMA O[O MLt MH[A & = U7
S|

[0 %]

innovative & 4A QI

enable 7}=38}AH SO}

available 0|& 7ts7ot
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3. Growth prospects are ------- high that their company will
emerge as a formidable rival.

(A) very

(B) much

(C) such

(D) so

[‘dE1D

[l AM] J&0f Ciet Z|CH7F =0k 1 A7 - H
Gz AtE Babg AO|C

[0=]]

growth A%t

prospects O A

so ~that O} ~&jl Al ~3}C}

emerge L}EFLICE T 2Lt}

formidable O{Or0{ Ot

4. So far, AD & T Co. has ------- to see much return from its
expenditures.

(A) yet

(B) once

(C) already

(D) still

[(EEIA

[8M] X| 27X AD& T Co.= X|SELEH He $98
HX| XL

[O1%]

so far X|Z7tX]|

have yet to O}&l ~5|X| QC}

return =¢<

expenditures X|Z, H|E, AH|, A2



www.staredu.co.kr

5. Paul Stanton raised eyebrows when he announced the
plans to sell his company ------- Finland Telecom at the
press conference.

(A) from

(B) by

(C)to

(D) at

[I—I I:I-] C

[6l ] Paul Stanton 2 17} 7|At 2|40|A 19| 2 AES
Finland Telecom Of|A| OfZe AZ 2HY [ &2
BN

Y

raise eyebrow =42 W FE2|Ct

announce 2fHS|CH

press conference 7|k} 2|A
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6. Mr. McGinn was holding a conference call with investors
to explain why the company would fail to meet -------
earnings expectations.

(A) quarter

(B) quartering

(C) quartered

(D) quarterly

[‘dE1D

[sll 4] McGinn 2 FXIXZE1r 2[AS] £7] =0| Z|TH 4
= DN E=XE 285te 2t 2/9E ©
[0=]]

conferencecall 3}& 3|9, M3} 3|9
investor EX}A}

explain 2 QS|Ct

fail to V ~ol= A= AlL{SICt
quarterly &7|9]

earnings <2l

expectation 7|CH, Of &t

|_

7. According to the result of the negotiation, the -------
problem is that one side has more will than the other.
(A) exists

(B) existing

(C) exist

(D) existed

[HE B

[8] Ad] zﬂfg gﬂron =2H 71E29 EXd2 o F0|
CIE & HCH O Z =

[0 =]

accordingto ~0f =M

existing 7| &2

will Q| X|
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8. By ----—--- the genuine success of our clients all over the
world, we have leapt ahead of our major competitors.

(A) promotion

(B) promoted

(C) promoting

(D) promote

e C
[BIA] ™ AlZol s Selo] nASO| AR HBS
=X

SAUCEM =0 ZUYMHZECH M LEXC
SE
promote =ZXISICH, Z HSC}
genuine XIKt9O|

success M4

leap ahead of QtA| E=QFSILCH

9. Only 38% were able to ------- Joe Jackson as the chief
executive of America’s most valuable company.

(A) identify

(B) identical

(C) identically

(D) identity

‘& A

[0l ] 38 I M ETHO| Joe Jackson & O|=2| 7}% 7K
U= ZA| Z D ZHRE QALY

[02]]

identify 2tOISICEH OFE L

valuable 2=l 71X Q=
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10. By trimming costs and focusing ------- sales of higher-
end products with wider margins, Prux Co. posted a 43%
rise in net income.

(A) out of

(B) with

(C) for

(D) on

X=Z=3

focus on ~0f &=5}LC}
high-end 152

wide margin 2 O|&
post EHHSICt
netincome =<

11. As a result, computer makers are trying to diversify into
services and big machines aimed at ------- customers.

(A) corporate

(B) corporation

(C) corporately

(D) corporatize

[PEETA

[BlAM] ZotMoz HAEE MEYMEL 7| DHES
SHE St MH|&2F U 7|ASS CHERistaAt

- Hopn UL

[O1=1]

diversify C}QF2}SHC}

aimedat ~2 |SHE o=
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12. In contrast to three years ago, most voters in France
have strong ------- In the economic recovery.

(A) confident

(B) confidence

(C) confidently

(D) confidential

‘S B

[6fAM] 3 @Xut= 2o 2 R E9| m&A
FHAE2 A 2[=0 s ot =S 7t
[U#]

in contrastto ~Qf CH{ZXHO 2

voter EHX}, S X}

confidence A}AIZE =EA

economic 4X| 2]

recovery 3|5

13. A close look at the company suggests that Zella Sports
IS going to remain ------- the top venture firms for the
foreseeable future.

(A) in addition

(B) without

(C) among

(D) toward

‘& C

[sHA] 2[ALS XEMISHA &o{2 Z} Zella Sports =
7t77k2 Ofefof =[nof ’iX 7|0l & ZAO|CH.
[02]]

closelook HElS| Ardl

venturefirm HX 7|

foreseeable 7}71-&
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14. We would like to cautiously express our concern that it
IS too early to tell ------- the investments will pay off.

(A) although

(B) despite

(C) regarding

(D) whether

[‘dE1D

[l M] 2l= FA7F k& 2X[0 CHStK O[OF7| St=
A2 HEF O|l20t Z4AFHA gLt

SE

cautiously =AM AEA

express H2SIC}

concern 47, 24

investment £ X}

pay off d&5ICt, JutE LHCt

15. It will take several months for ------- to complete their
work, but already the finger pointing has begun.

(A) audit

(B) auditor

(C) auditing

(D) auditors

[EE]D

[0l M] 2| AL ARIS0| €& 0K 7|0l= =712 0] A&
Z0[X|2F ofO| H|'=O| A[EFE[RULCE.

[0 %]

auditor 2| AHlZFAFXR}

finger pointing 102, H|L
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16. World Today Online gives you ------- access to global
news, daily briefings, market trends and resources for
small business.

(A) instantly

(B) instant

(C) instantaneously

(D) instance

[HTH B
[81144] World Today Online 2 ZHAIO|A MAH &2, OjYe
ZEREl AM AF B8, 27|HS A kB 52

R 23t

[0&]]
access M, A& #Hot
global M| A 2]

resource A&, XI&

17. The companies acknowledge that economic growth
alone will not ultimately ------- iInvestors.

(A) satisfaction

(B) satisfactory

(C) satisfy

(D) satisfies

[EE]C

FEXAEE UHEAMZE = BlhEe A
SE

acknowledge Q1™ G}C}

economic growth AX| &%t

alone CF=0 2, =2, SlLIEIO 2
ultimately =80 =2

satisfy Br=A|7|CH

investor EX}A}
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18. To learn more about flexible advertising opportunities
nationwide, contact your Daily News sales ------- :

(A) represent

(B) representation

(C) representative

(D) represents

[EH]C

[01=]

flexible g&4d =
opportunity 7|2|

nationwide X=2XMo 2

sales representative G AL

19. The incredibly efficient TD 2000 platform is used in
most data storage systems, and it can help you ------- a
world leader.

(A) become

(B) becoming

(C) became

(D) becomes

[‘E]A

[ojM] 2= = GBS B2 sE%¢Q TD 2000 S3H&ZF2
222 M& AAHO| A2 MAXC 2[EH7F &=
As Eot=L O

[02]]

incredibly &= &= §2 M2

efficient & QI

storage X%t
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20. As managers get comfortable with innovative

computation, these programs will ------- become just
another everyday technique for analyzing options.
(A) gradual

(B) gradualistic
(C) gradually
(D) gradualism

[HE C

[BHA] RIXFS0| HAIF Ol A Lo WotstA Eof wha
Of Z= =2
29| 7[=0| E A-YLICE
[013]]

comfortable IHOSH
innovative &AM 0l
computation A At

analyze =MLt

option MERALS

21, —------ the researcher wanted was a transparent coating
on the bulb that would reflect the infrared rays.

(A) Unless

(B) What

(C) Besides

(D) That

[T B
[BiA1] AT RA0| YU S MM HhAtslE T

— —
?lel FFot ZEO[RALCT.

[0=]]

transparent £&ot
bulb M+

reflect BFALSHC}
infrared rays M Q|M

Ll
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22. If you want to see why we are ranked as New York’s
favorite restaurant, please ------- us out at
www.NYbest.comtoday.

(A) check

(B) checking

(C) to check

(D) checked

[FEE]A

[8]A] e 2|7} New York O] 7} Z0}8}= EI*EE*
=2|0| A=X| oKX} SHCFH www.NYbest.com & @ =
SOl E M| 2.

(O]

rank =2[0f 2ZC}

favorite 7}% Z0}8t=

23. You will also enjoy personal finance ------- from one of
the most trusted financial experts on Wall Street.

(A) advice

(B) advise

(C) advises

(D) advising

[‘dEA

[ Ad] SH4l2 Eot 71 A2 2= Wall Street 9|
NS ME7t28H T =2 e &= UL
[0=]]

finance ™

advice = ¢

trusted A28 Br=

financial X 9|

expert MEZ7}t
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24. Analysts are wondering ------- the weakness in lens
solutions is a sign that the rising popularity of disposable
lenses is seriously eroding that business.

(A) about

(B) in order that

(C) whether

(D) moreover

[EE]C

[BHAH] =472 dl= 849 fF0| S7tot= €28
dZ9 Q7|7 40 O EAE FASHL Ue

A HO0| Ot X =s=dliotl KAt

[O1%]

analyst =47}
weakness M

lens solution Hl= &OoH
rising S7}dl=
popularity 217|
disposable 2 3|&09]
erode E Al XIALA|Z|C}
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25. Thanks to fast ------- , unemploymentis at a near-record
low, and minorities who had difficulty entering the labor
market are now part of the economy.

(A) grow

(B) grows

(C) grower

(D) growth

[EE]D

[B14]] W2 ZH HT (R0 MRES V20| H2ES
=4, LAY YO dHEs 7HKD e

23 EHO| O[X EX 2| o F=O0|Ct.

Y

thanks to ~=E &0

unemployment 4 &

near-record 7|S0| 7}

minority A~=2&1Et

26. Please note that you can cut substantial operating

COStS ------- sacrificing crucial performance at no extra cost.

(A) without

(B) even if

(C) except

(D) until

[EE]A

[olAM] F4I2 F7HH[E 8l0| 32t Yol Sl

7:.*#%* | Bl0| &Ect 2FH|E BEHY + ULi= A=
=otM K.

[O'I'rl]

note =So|LC}t
substantial AMEHSH
operating cost 24 H|
sacrifice 3| SIC}
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27. The Crystalview Lodge ------- busy since it hosted a
reception for Asia-Pacific Economic Cooperation leaders in
2015.

(A) was

(B) has not been

(C) is not

(D) have not

‘3B

[6l ] The Crystalview Lodge = 2015 H Asia-Pacific
Economic Cooperation 2|H=2 {3t 23S 7=t
O|2i 2 H}8CY.

[02]]

host 7| | S}C}

reception 2tg 3|

28. Itis believed that free trade can also ------- Singapore’s
heavy dependence on Southeast Asia and Europe.

(A) less

(B) lessen

(C) lessens

(D) be lessened

[EE]B

[BIA] At7 F9H2 Singapore 2| 1ot = OFA[OFL}
FE0 2/ESle Ad=s B0E &= UAs Ao

O} A %L

[O1%]

freetrade At 24
lessen = O|C}

heavy 1=t
dependenceon ~29| oO|&
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29. Itis reported that Italy ------- has 2.4 million official
unemployed workers, 1.5 million in the South alone.
(A) currency

(B) currently

(C) current

(D) currentness

[‘dE B

[0 A] Italy = TiX
RO, HEX
SE

currently o1 X

official 54X 0l
unemployed & 9|

alone CI=0 2 S|ILIRIO 2

Q:l:

30. If you are a business owner or invest a large amount of
money ------- a bank, it is likely that you get to deal with the
manager directly.

(A) among

(B) from

(C)in

(D) by

C

ot o
n

m) C
Ml 40| BFeF AFRIM| Sl AR FO|ALE 20| B2
E2 SXihe B2|Xt A A

SE

owner 29

investin ~0|| EX|StLCH

itislikely that ~&F Zd ZLC}

deal with C}&LCF, X 2| ST}
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31, - OnMusic Co. maintains the software’s simplicity,
no one knows how many of its 4 million users will pay to
download music.

(A) Even if

(B) Despite

(C) Nevertheless

(D) So that

[EH A

[8]4d] OnMusic Co.7} AZE Q09| Cia3hS
A0 S+tot 4 HOF AFEXIS
MESO0| 29E OREESE A0

ofRL QEC}

[0=]]

maintain 5 X|S}LC}

simplicity Era=%F, ZHCHSE

- -

32. We finally developed an innovative e-Distribution
solution that automatically ------- iInventory requirements.
(A) detect

(B) detecting

(C) detects

(D) detective

‘& C

[B]M] 22|= EC|0| A SO 2 XD ZQE Ao
S AMX Ol e-Distribution &2 M JHgrai& L CT.
[042]]

innovative & AIX Q|

solution S}, &} *H

automatically A2 2

detect EMX|S}CH

inventory X1, =8 =5
requirement g, QXA
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33. The basic program is adequate for simple needs, -------
it lacks the ability to handle most common types of
attachments.

(A) so

(B) but

(C) however

(D) since

[HEH B
[6AM] 7|2 ==&

o
[O1%]
adequate Mo, HEoh

lack S£=35}C}

34. Don’t miss this opportunity to reach affluent, influential
business people in Europe ------- are in the market for
products and services like yours.

(A) who

(B) which

(C) whose

(D) whether

[‘dEA
[l M] 4o &&= MH|A AR 2 U=
I A= FEHO AMYZEAA HEE = U
712|§ XX OrA| L.
[0=]]

miss =X|LC}

affluent 285t

influential gaf= Q=

in the market for ~+ 0| 2t

0>
o
rr
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35. We always keep our courteous ears and generous
minds open to ------- our valued customers have to say.
(A) that

(B) in case

(C) what

(D) in case of

[EH]C
4] Fele= 2o 23et 149 2o 5ok 2t
et o2 €071 USH L

generous ZtCHsH HI2&
valued A=t

36. Notwithstanding the U.S. economy’s current
productivity surge, a ------- theoristis concerned that the
pickup may not last.

(A) leaders

(B) led

(C) leads

(D) leading

[‘8ED

[l AM] O|= ZH<Q ditd 280 S+t of
O|l27t= 1 =HO| X[EE[X| REEXE ZECHE A0
CHEH Al X 2{SHCF.

SE

notwithstanding ~0| &= S+ol11

productivity 4 ArM

surge 55, 5o

theorist O| =27}

pickup @XM

last X|==E|LCf
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37. Employers are also less ------- with such aspects of
their jobs as wages, sick leave, health plans, and
promotion policies.

(A) contents

(B) contentedly

(C) content

(D) contently

F w159 A, Wt AT 2,
K - .
ST YM S 22 SU0| Y BEC)

be content with ~0f 9t=SIC}
aspect M, &g

sick leave B}
healthplan 2 E &

promotion &7l

38. To get ahead in today’s fast-changing environment,

companies like ------- need to become e-businesses.
(A) yours

(B) your

(C) yourself

(D) you

[EE]A

[olM] L==2| W=H BHot= 2880 ¥A7| 25t
S €2 2= HUA AFE =S SHOF SfCt.

[0 %]

get ahead QtA{LCH
fast-changing W27 H3sl=
e-business QIE{4l Al
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39. The newly ------- merger between Chefaron and Dexco
IS the latest evidence of a massive restructuring of global
markets.

(A) proposal

(B) proposed

(C) proposing

(D) propose

‘3B

[6] Ad] Chefaron I} Dexco O] x| ¢tH2 M A A&
Aot = =789l | 4lel 40|

SE

proposed K| Q=

merger &

massive 7{LC{3st

restructuring £+ x2xM™

40. Businesses are ------- to become more selective about
what they spend their money on, now that financing is
more expensive.

(A) expecting

(B) expect

(C) expects

(D) expected

[MEH D
[l Ad] Xt AEZ2 =0| Bo| &7 =0 HE2
52 == Ar8%te A0 G2 e A=

Of & =l Ef-

[0=]]

be expectedto V ~S}= Zd0| 0| A E|Ch

selective =AM D E=

now that ~0|7| []2J|

financing A2 X



www.staredu.co.kr

A1, ------- the trend in labor costs, any slowdown in
productivity will be sure to raise unit labor costs next year.
(A) Give

(B) Given

(C) Gave

(D) Being given

[‘dE B

[ollMd] 2lHH|e| S¢S 1otH HLbd ol &30t
=280 LA T =& H[ES =& A0
[0=]]

given ~= 112{5}H

labor costs Q171H]|

slowdown =%}

be suretoV £& §l0| ~SICt

unitlabor costs ¢ == H|E

42. According to industry analyst Jack Myers, investors are
more concerned ------- a global downturn than company
specifics.

(A) in

(B) about

(C) toward

(D) within

‘& B

[oHM] BA =472l Jack Myers 0f 2™ FXIAS2
S|AS| ME WEELCH= MA A &AM CHoto o=
2t

[02]]

analyst &A1 7}

be concerned about ~0|| Cs}0] AN S|CH

downturn XX

specifics M|ELE
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43. Noly Inc. ------- by a Canadian entrepreneur, Joseph
Rich, a former marketing director for Deli Inc.

(A) found

(B) founded

(C) was founded
(D) was found

[I—I:I-] C

[6] A4] Noly Inc.=2 ™ DeliIlnc.Q| OtAH &l O|AFRE FHLILCT
7|27t Joseph Rich 0f 2|5t A&l k| QILCt.

SE

found & lStC}

entrepreneur 7| g7}

former O|X 9|

44. Most analysts cautiously predict that the committee will
------- approve the proposal next week.

(A) eventual

(B) eventually

(C) eventuality

(D) eventuate

[I-I |:|-] B

[sHAM] CHE 22| 2472 |27l 4= CEF0| O
HOtME solg Aoz Y AEA O &etrt.

S E

cautiously =AM AEHA

predict 0| &SI}

committee & & 2|

approve 5 QISHCt

proposal X|QtA

H
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45. The number of foreigners ------- Italian companies has
dropped for three consecutive years, according to M&A
Journal.

(A) have bought

(B) buy

(C) buying

(D) bought

‘& C

[6] Ad] M&A Journal O (2™ O|EjE| I|ALS QlF=5I=
QIROISO| 47} 31 Gl ZtAZUCHD BhLY

[0=]]

foreigner 2|= 9l

drop Z 2SI}

consecutive g0

46. Some companies are cutting back spending -------
Investments are just not yielding the returns they expected.
(A) because of

(B) due to

(C) regarding

(D) since

[FE]D

[oHM] €5 =A== FAF OHH] 50| O E 2=
LW X5t 7| W20 X=S E0[2 ULk

[0 %]

cut back AMZISICH =O|CH

spending X|Z&, AH|

yield AHESHC}

return =2
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47. Rapid technological change, as well as global

consolidation in industries, ------- that companies need
experts skilled in running sprawling enterprises.

(A) meaning

(B) means

(C) mean

(D) meaningful

‘3B

[SHAM] A MAN S #TF ofL 2t WE 7[=% 0
Hol= 2[AE0| 2 #oVtE 7|gES E 28
MEZIE 282 otfh= A= 2|0|THC}.

[0=]]

rapid Hi=

technological 7|=H QI

as well as ~22 0t OfL| 2t
consolidation Egt

expert M Z7}

sprawling AN|SCHE WO{LI7I=
enterprise 7|
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48. Beauty24 selected Louis Favelle to lead the firm last
year, and he has so far ------- with strong sales growth.
(A) rewarded

(B) been rewarding

(C) been rewarded

(D) rewards

[I—I I:I-] C
[6 ] Beauty24 = ZHEH0|| Louis Favelle £ 2| A}
SAXE MEH T X| 27X D= FHojLt Toj MEo=

o= UL

[0=]]

lead the firm 2|AFES O|E Lt

so far X|Z7}X]|

be rewarded with ~2 At= BICH
growth A%t

49. Most workers were also increasingly able to find new
jobs at a pay level closer to ------- of the job they lost.

(A) that

(B) those

(C) this

(D) these

[‘E]A

[ M] CHE =2 22XA&E2 o A3 o ™A 7Hiz
=0 =& M2 2AtE|E Hs = UL

SE

be ableto V ~&t &= QIC}

at apay level g0 =9 =2

closerto ~0f| 7}7}&
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50. Substantial tax cuts are boosting consumer purchases,
especially purchases of cars

——————— France and Italy.

(A) at

(B) on

(C)in

(D) by

[‘8E]C

[oHA] &=t MF
OlEHE|Of| A K}= K}
SE

substantial AH&HSk
boost EQFA|7|LCt
consumer 2AH|X}
purchase 10O}
especially EY7|

=
DH% FSAZ|L AL

-LJD\'

51. To be profitable, customers ------- take advantage of its
higher rates must also use its fee-generating services.

(A) whose

(B) which

(C) what

(D) who

ol2 7| YIBt0] £2 2IHl HHS Fals
[

ot @a= TAAZ|= ME[AZF 0800

[011-I]

profitable =214 9|

take advantage of & O|&5|LC}
rate o

fee-generate 222 LMA|Z7|=
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52. Andy Radolph joined the company in 1998 ------- an
accountant and rose to chief operating officer in 2015.
(A) as

(B) for

(C) due to

(D) into

[‘EA

[6] A9] Andy Radolph = 1998 HO|| 3| AHAIE 2ASHY
2015 ||| [0 2F MAX=E ST

SE

jointhe company & A}SHC}

accountant 2| A At

Chief Operating Officer |11 2 XX}

53. The four-year contract, however, did bring pilots back
to the cockpit, and today operations are returning to ------- :
(A) normalize

(B) normal

(C) normally

(D) normalized

["EE1B

[oHA] 2iL} 4 HO| A2 7|Z=S LAl ZFHL=E
=0l LY 285 =L UL

[01=]

cockpit & A

pilot 7| %t

returnto normal &9 2 ZO0}7tL}
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54. Nearly 80% of drugs in development never win FDA ---
----, and companies can burn up 500 million dollars on
research and development.

(A) approval

(B) approves

(C) approved

(D) approving

["EE]A

[sHAM] 7= 0l AFZ9| Ho| 80 HME = FDA 9
s0le A Xot glAts A4 5 B g+
JHEH| 7} Ar2tEICE.

[013]]

FDA Al9FM (Food and Drug Administration)

win approval Q= QLC}

55. Two thirds of Americans now possess their own smart

phones, and many find them ------- for simple tasks.

(A) usefully

(B) useful

(C) usage

(D) use

[EE1B

[0l A] 2/3 2| O|=2I0| &AX Xiele| AOEES AR/StA
ANeH B2 AFES0| ZHEet G706 A0rEEO

Q838iCtn Mztsict.

YE|
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56. When ------- a laptop computer, look closely at system
requirements, technical support and global warranties.
(A) buying

(B) buy

(C) bought

(D) be bought

[I—II:I-] A

[olAM] LESS O O ALE 27A, 7l X[&,
=N BT s E 2HEM K.

[01%]

laptop computer - EE
closely XIA|SHA|
requirement 7+ Atg
support X|&

warranty 2&

57. To qualify, you must join Gold Passport, and provide
your account number at check-in and pay an ------- rate.
(A) eligibility

(B) eligibly

(C) eligibleness

(D) eligible

[‘dE1D

[A] X} 0| &|2{™ Gold Passport Of 7}2ISHA|
+=&5td [Iff Alxt H E Ye{FAlD Heloh 255
LA 2.

[0=]]

qualify XpZ0| I|LC}

accountnumber A%} HT
eligible Hgtst
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58. We will offer data transmission at speeds -------
superior to conventional systems and will transform the
way people communicate.

(A) very

(B) so

(C) far

(D) such

[HEH C
[BlA] Q2= U Ol A|AE L BN 2
HIO|E M2 M%sm MNES| oA} ASSH= U
HhE 24 QLo

[013]]

transmission M=

superiorto ~ELC} Y3t

transform H2A|Z|C}

59. One of the hallmarks of the management style is
identifying the company’s best people early and rotating
------- through a variety of jobs.

(A) them

(B) their

(C) theirs

(D) they

[EE]A

[ofMd] 88 AERRQ

7010 =5t Crfst

Al7|& AO|LC}.

[01=]

hallmark (K& X 0l) EZ

management 4

identify =tQISICE, 2FOLELC}
o

rotate =2t 22 = S|LCt
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60. When you subscribe for two years, you can pay only
1.99 dollars per copy, so it costs less to have Fashion
Today ------- to your home every week.

(A) delivering

(B) delivery

(C) deliver

(D) delivered

(&g D
M) 2 48 N7 TSSHAIR 3 A 122 99 MEO

—_ =
HA £ o, o Y4le| Tof| FashionToday &
HiEE[ =S St= 0o HE=2 24 += JUsLIC
[0 =]
subscribe M7| Ft=3}LC}
per ~&f, ~OFCk

61. ------- unique architectural design to unexpected dining
delights, we pride ourselves on making your stay a little
more memorable.

(A) By

(B) For

(C) From

(D) With

[EE]C

[clA] =50t A= CIRRIOA T8 AALS| 7| &K,
F2l= 4o HFE OF 7| ool Ae=

SO EE0 AEREHE 7K /}ASL L

[02]]

unigue =E£73l
architectural Z1=9|
unexpected S=EM9|
delight 7| &
memorable 7|2t 0ot

-
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62. ------- many customers are seeking convenience as
much as low prices, J&J Mall will also focus on creating
new services.

(A) Because of

(B) Unless

(C) Since

(D) As of

["dE] C

[SHA)] Bre T2
&0 J&J Mall
4 IL|C}.

[015]]

seek olCt, &L}
convenience Hg|st
focus on ~0f & =o}LC}

=0 &
=]
— —

63. Financial Times is more than a source for readers to
gain the ------- to make smarter professional decisions.
(A) confidence

(B) confident

(C) confidently

(D) confidential

[EE]A
[6]Ad] Financial Times = S XS0 A UO0A HL HYSH
HEZHl 2dE Yo% of= AN O[0|Lt.

= 1

[015]]
source |H, 12
gain 2Lt

professional M ZA Q|
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64. A new book titled World Advantage offers a systematic
and practical approach to ------- each European country’s
potential role.

(A) evaluate

(B) evaluates

(C) evaluating

(D) evaluation

[EE]C

[6] 4] World Advantage 2t= ME2& XME XA X o0|1
)\E|_g_7£-||o| 7} OE-I :,_:IL7|.O| XI-XHI-lOI_ Q=II I-9_| M tclgl'tél%
R 2 hCt

(03]

systematic X|A A Ol

practical 4% 0l

approachto ~0f Cfjet §Z2H

evaluate 75|}

potential XA Ol

65. Sound systems have the most brand recognition, but
these days, even basic components are beginning to form

(A) identify

(B) identical
(C) identities
(D) identified

e C

B4 NS A2HE U AR JXD gloy
=Y J|EXNO 7|2 A HEL HelE O|0|X]|
SUSE Bl AT ST

[013]

brand recognition EZiE OIX| =
brand identities E2i = O|0|X| S5}
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66. When ordering the product, please ------- separate
sheet with color choice, personalization requirements, and
delivery details.

(A) enclosed

(B) enclose

(C) enclosing

(D) enclosure

[‘E]B

[SHA] MES T=otd M My ME, B4 @A,
HiS ME W8 55 BE2 J0|0 533l AR
SE

enclose =Z=0}L}

separate =c| =

personalization 7| 213}, St=g9}

delivery H{&

detail A& A}t

67. Foreign students are less ------- to stay in the United
States and contribute to its economy.

(A) like

(B) likelihood

(C) likewise

(D) likely

["dED

[BlAM] 2= FerdE2 0/=0 ForA ZAH0 7|
x| 4Lt

[02]]

belikelytoV ~&t Zd ZLC}

contributeto ~0| 7| S}Ct

F

[l
>\I

_|

Of
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68. Competition today is based on new products and new
------- that are in transition and often defined by
technologies that are ever-changing.

(A) market

(B) marketing

(C) marketability

(D) markets

‘=] D

[BlM] @=s=9 32 Uy =70 U= M2
ANEE 7|82 2 otH, A& Hast= 7[=0| 2[5H]

M o|ElLt.

(O]

competition 47X, C{2|

be based on ~= 7|H+O§ olC}

in transition tE=7|0 Q=

define ™ 9O|S|LC}

ever-changing Ha} A St

-

69. You can reduce work stress ------- avoiding meetings at
the start or end of the day.

(A) of

(B) by

(C) from

(D) at

[0=]]

reduce =O|LC}

work stress &2 AEQ A
avoid I|S|Ct
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70. Don’t hesitate to contact ------- and get a free
evaluation CD for antivirus solutions.
(A) ourselves

(B) we

(C) our

(D) us

[EE]D

[oHA] =X3SHX| DAl AE FA|D F& HO[HA
E|X|E CD 2o ) 1.

[0 %]

hesitate =X{S}LC}

antivirus HFO|&HA E|X]|

71, ------- the Starlight Restaurant, where 60% of the

customers are lovely couples, there is romance in the air.
(A) On

(B) With

(C) At

(D) During

[REH C

[of 4] 60 I M ES| I HS0| LHEE ArH LD 2
F{Z £ 0l Starlight Restaurant 0f = At2te| 7|20
A& L LT

[01=]]

lovely AFEIA R

intheair 7| 20| Z =&
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/2. Everyone seems to agree that the island must
immediately cut the mountain of waste ------- produces.
(A) its

(B) itself

(C)it's

(D) it

[‘8ED

[HM] 257t 1 82 SA| 2 d0| HiZEst= 4tEHO|
22 Mg 7|& E0{0fF otCtet= A0 sS85t A2 =2
HQIC}.

[#]

seemtoV ~Sl= Z{o =2 HPQIC}

immediately SA|

/3. One of the most impressive farms is professionally
managed for millionaires, some of whom ------- moved into
the area.

(A) shortly

(B) recently

(C) currently

(D) soon

[EE]B

[ol 4] 2ALHC 5= 2 ot
o
=

i v
i
<
|
Ral
19
|0
HU

o 1

o
O[At=2 E& =L

[0 %]

impressive Q1AA QI
millionaire BHOFAFX}
moveinto O|A} 2L}
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74. Our new World Business Class from Seoul to Paris is a
logical ------- to the nonstop business world.

(A) response

(B) respond

(C) responsive

(D) respondents

[EE1A

[oHAM] 222 ME0M m2|74X] 2] World Business
Class &= | X| %10 HZEl= ALYl MAO| EFLSH
ZhS 0|t

[01 %]

logical Efgst, =2|X 0l

response B3, &

nonstop #|X| %1 A&E L

/5. We are a leading ------- of microelectronic systems that
are turning the family automobile into a high-tech,
multimedia playground.

(A) provision

(B) provisions

(C) provider

(D) providing

[EE]C

=0|HE Hi4= O0|3 2 FArSSH AAH
S g Ml O] CF.

[02]]

leading ME=A Ol

turnAintoB AE B Z H}FRL}
microelectronic 00|32 M X-&<eho|
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76. You will enter into a world ------- with the finest holidays,
dining, shopping and hotel stays.

(A) filling

(B) fill

(C) filled

(D) is filled

[d&]C

[olA] X JF7tet MAL &£E0 & MF=E 715 T
MAZ =& AYLILCE

[0 %]

filled with ~2 7} %}
fine &%t AT

77. To find out more ------- iInformation on the tour,
complete the coupon below and fax it to us at 1-800-212-
7999.

(A) detailed

(B) details

(C) detall

(D) detailing

["EA

[SilAd] 2t&0f Ciet O XiAlet SEE ¥ HAIH
ofgfe| =2 XtAMSEAM Al 1-800-212-7999 2 T A
HLUFAM L.

(03]

find out &OFLHCH

detailed X}A|St

complete &t dS|CH
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/8. Donating products to charities ------- the smart way to
deal with returns, samples, and end-of-season
merchandise.

(A) are

(B) were

(C)is

(D) be

[‘8E]C

[SHAM] Xt EEMOf| &EES =
HE, AMEO| X[H 4= 5 XElot=
SE

donate 7|ESILCH

charity XM CHA|

deal with C}&CF, 2| SHC}

returns Hr=Z=71

79. With the booming economy, most people think that the
business school arena is ------- competitive than ever.

(A) so

(B) more

(C) very

(D) too
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80. The treatment can be performed on all skin types, and
you can return to normal activity ------- after treatment.

(A) immediate

(B) immediacy

(C) immediately

(D) immediateness

(e C
[BiM] X2 2E mE SR 7hsst X2 X Z0f
Y gEg # + Adsur

(@ N o]
[01=]
treatment X| &, X X|
normal dAHA O]

immediately after X0

81. According to the survey ------- by the committee, the
majority of the buyers in Japan have made their
preferences clear.

(A) conducts

(B) conducted

(C) conducting

(D) conduct

‘S B

(] 1 {20 25t HA[E 2& A0 H2H
2=9| CiCt==2o| FOiXI=0] A2 M= E e
LFEFLH RLCE.

(=]

accordingto ~0f = H

survey 2 & At

conduct A A|SICH

committee 9| & 3|

majority CHCl==

preference M2, Mok
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82. S-Market is Asia’s first company ------- the interactive
purchase, sale and development of businesses.

(A) enables

(B) enabled

(C) to be enabled

(D) enabling

[I—I I:I-] D

[0 Ad] S-Market 2 Of Al
Ared S 7HsSHA St 2 AFO|L.
SE

enable 7}s5StA SICH

interactive 2o ™ Ol

purchase 10O}

development 7{ &

83. Based on ------- survey results, the researchers report
that 67% of small employers now offer health coverage to
all or some of their workers.

(A) recent

(B) recentness

(C) recently

(D) recency

[I—II:I-] A

[B1A] 42 ZAF ZDbo oStH HAPYUASELS 27D
7|l n8FE F 67 1@57} ST A 0

HESOA HEEY

[01%]

recent |2

survey d& ZA}

health coverage 44 23
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84. The incentive to abridge intellectual-property rights

reflects the gap ------- the prices charged by the copyright
owners and the actual costs of distribution.

(A) either

(B) neither

(C) from

(D) between

[EE]D

[oHAM] XN TLtdS E=otedl ot HHA2
ISESPA g AOXF P2 B0 THE 7S HIES
74 X0|& HrSotrt.

[02]]

incentive & 2{($CH)x

abridge =2FsILC}, CH=3S}CH
intellectual-property right X| A Xjj AF#

reflect HtASIC}

gap XtO

copyrightowners X&r# ASQ X}

distribution S &, Hj=
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85. After ------- great strides in 2014, real wages of
production workers have stopped growing.

(A) to make

(B) make

(C) making

(D) being made

[EH]C
[0 A] 2014 EHOf| §=F2| T = 0| =0 HtH
T E2AE2 HA Y0 SHME HEFRULCE

[U#]

make great strides Z=9| 2XZ O|FL}
stride 4=

wage 2=, 5

grow ASHCE

86. ------- Indonesia is a net exporter of oil, and the region’s
only OPEC member, itis caught in the same dilemma.

(A) Despite

(B) Although

(C) That

(D) As soon as

‘& B

[BiA] l=UA[Ot= 47 = +==0[0 12 X[FOoA
S AUS OPEC 3= £t 22 = ot
B8} 54 .

[0=]]

net exporter &= ===

region X|<

dilemma
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87. Itis commonly known that sweet potatoes are rich in
vitamin A and can be ------- almost anywhere in the world.
(A) grow

(B) grew

(C) grows

(D) grown

[‘dE1D

[ol ] 1+'0F= H|EIZl AV} SRt A=
SN ™ MA ofClof MLt AR o= RULCE
[0=]]

commonly 25|, E&

sweet potato 10}

grow AZSICEH XF2HCE

I'IO}

88. Exports may be surging, but ------- at many companies
are plunging because imports are much more expensive
than they used to be.

(A) earning

(B) earn

(C) earnings

(D) to earn

[EH]C

[BiAM] +==0] 23 = UK 0| o™=t 2
H B[EO| O] 57| W0 E2 2A=2] +<0|

= =ford UL

SE
barring ~7} §CtH
surge 5 E55ICt, SS8ICt

earnings =%
plunge ==SIC}
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89. J&J Inc. is becoming more ------- by introducing the
most advanced management skills available.

(A) transparently

(B) transparence

(C) transparency

(D) transparent

[EE]D

[6H4d] J&JInc.2 71 TEE EF 7|88 ZRATYLEMN
2 FF5tA &[22 UL

[01=]

transparent £ 3ot

advanced XSt

management 4

90. The company’s shares have barely budged ------- the
changes were announced last month.

(A) since

(B) along

(C) as long as

(D) during

[I-I |:|-] A

[BHA] K|z T HotS0| HRHE O2HE AL 7=
HO| SAO|X| UL

S E

share FAl

barely 79| ~OH_|71|

budge 27t 2Zl0|C}
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91. Meanwhile, foreign investors are ------- to want to
acquire a troubled retailer in a low-margin market.
(A) like

(B) likely

(C) likeness

(D) likes

SE

meanwhile otH, 1 Ot
foreign 2|=29]

investor EX}A}
belikelytoV ~&t Zd ZLC}
acquire L}, =2 E5}Ct

92. Please bring this ------- Into your local La Dolce coffee
shop, and you will get a complimentary sample.

(A) advertisement

(B) advertise

(C) advertisements

(D) advertiser

‘A& A

[6Ad] O] &= TAl X|AO| LaDolce AHL|MO 2
QAR 2E MES wol 4 QgL
[0=]]

advertisement 211

complimentary £ = 9|
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93. When ------- an extension to her kitchen wall, Ms.
Taylor stood an old ladder up in the space, covered with a
blue sheet.

(A) consideration

(B) consider

(C) considered

(D) considering

[‘8E]D

[BHA] £ & =2 a8 Iff Taylor = H2
AtCHE[ & Ik A|EXZ FE QI 20 Mfl= QUL
SE

consider 112{o}LC}
extension g%, ==, =l
stand A||LC}t

_,_
[
==

94. Some nutritional factors are vital for our health, but
cannot be made in our body, so it is important ------- get
them from quality food or supplements.

(A) in order that

(B) that

(C)to

(D) for

["dE] C

[6A] O FAF A= 22| AL0| ZE=X0|X|Tt
22| FO0|A BHEOX|X| ooz NEFHo FA0|L}
HENE S5t €= AO| S}

nutritional g 9|
factors ¢, @4
vital Z==% 9|
quality 1& %2 9|
supplement E =X
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95. To create your own terrarium, layer ------- colored
pebbles or small glass stones in the bottom of a glass vase.
(A) both

(B) neither

(C) between

(D) either

[EE]D

[oHAM] S Arele| HZt2|lg= TE7] ?I5t0 72| =8
Ofzfof XM=l =okZO0|L} SatAAES HAO|
=OM 8.

[O1%]

terrarium AMZ0|L} HE S& 7| 2= &2|H

layer 40| =Lt

pebble xS =, Xt&

vase =4

96. This is one of the biggest ------- of hiring a professional
Interior designer who can manage many tradesmen.

(A) benefit

(B) beneficial

(C) benefits

(D) beneficiary

["dE] C

[OHA] Bf2 &Y mHSS =
OIH| 2|0 C|X}O|HZE n&ot= A= & - 59
stLtolct.

[015]]

hire 11-83}LC}

professional M 2% 9l

tradesman =84
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97. --—---- there is no obvious immediate problem, it is clear
that the financial systemis under tremendous stress.
(A) Furthermore

(B) But

(C) While

(D) That

e C

[B1A] B SZhRel 2HFE QXD WY Al2H0]

[015]]
obvious HuisH
tremendous &ALt

98. We also try to encourage these interest groups to
monitor our progress ------- we can review and improve the
ways in which we work.

(A) in order to

(B) for

(C) nevertheless

(D) so that

[EE]D

|
dAISHAIE SHL.
[0 =]
encourage 42istCy, 1 2SI}
interestgroup O 2l EHX|
improve gkAFA|7|C}
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99. This program is specially ------- for experienced,
iInternationally-minded executives who are looking to earn
a world-renowned MBA.

(A) designed

(B) design

(C) designer

(D) designing

S £8 HAHoZ 33 MBAS
Zeixo| IRHQl ORIES JtX

MBA &zt MA}L (Master of Business Administration)
experienced 43 0| B2

earn €L}, 2 E5|C}

world-renowned MAHHCSZE SHSH

100. ------- by what they’ve already achieved, the team
members are about to start work on the new project.
(A) Encouraged

(B) Encourage

(C) Encouraging

(D) Encourages

[FETA

[olA] 21=0| o|0] d¥et A0 17X EHAS2
MEE Z2HMEEZ OF A|AHSI2{10 SHCt

N

encourage A2{sICt, D2 A|Z|Ct

achieve | S}C}

be aboutto V Bf ~5l2i1 SIC}
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101. Notebook computers remain a lot more ------- than
similarly configured desktops, but sales of laptops are
growing at over 30% a year worldwide.

(A) expensive

(B) expend

(C) expenditure

(D) expensively

[I-IIZI-]A

[BIA] ES HEET} B2 IS5 I HAadY
ZEEECH EN HMX|TE L EE HEEO| Tt
HMMAXMSE 30 HHE o4 @t ct.

[0 =]

similarly H|Z=5}A|

worldwide MM AHE S 2

AN

102. If you would prefer not to receive ------- mailings from
other companies, please tick the box below.

(A) promotion

(B) promote

(C) promotional

(D) promotionally

‘A& C
[BilM] CHE 2IMNES2RH 82 fEE2 THe AS X
RO ™ OrefZtof V N[ ShAl 2.
[0=]]

prefer M S}IC}

promotional & 9|
tick V H|32 & A| SFC}
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103. For a company ------- motto is ‘customer satisfaction,’
the past year has been admittedly disastrous.

(A) which

(B) what

(C) whose

(D) and

[oHA] =t=FHO| ‘04 TZF'2 SIAA AAM X[
| 7él- 7

admittedly @I™SHAL], 23l 0]
disastrous X %Hst o

104. After a thorough inspection, the manager quickly
realized that the factory was even ------- than its reputation.
(A) bad

(B) worsen
(C) worst
(D) worse

‘=] D

[oH ] EX Tt A 20

2N O LCHEE AS HHEHI e
S E

thorough A X5t

inspection XA}

realize 7 &FCt

worse O L2

reputation T It

\ -IOP
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105, ------- two companies is especially tricky because
seniority determines everything in the industry.

(A) Combining

(B) Combine

(C) Combination

(D) Combined

[‘SEA

[l ] &= 2[ALE StLIE 2f-5tE A2 HSAE0|
gAHc 2= AS 273857 MZ0 5% 2=C.
SE

combine AgtS|L}

tricky &=, 7ICIE &

seniority A5 A&

determine 4™ G|LC}

106. Werecently sent extensive surveys to 750 companies
In the central business district that ------- recruit MBAS.

(A) actively

(B) active

(C) act

(D) actor

[EE]A

survey A& XAt

business district 2% X<

recruit 2 &SI}

MBA ZA st MAl (Master of Business Administration)
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107. In today’s ever-changing business world, being
competitive in the market is as ------- as being dynamic.
(A) more important

(B) importantly

(C) important

(D) importance

[dE]C

[6]A] @s<al 20| AL Hglst= AFY M A O A
AMEOAMe EHZ 3= A2 H5Hel AU
EolSAe] N S

[O1%]

ever-changing A= Halol=
competitive G =H Q=
dynamic ¥=X 9l

108. With Nodia Activ, a world-wide web server, you can
launch your mobile services to a vast number of ------- :
(A) use

(B) user

(C) users

(D) using

[JH |:|-] C

[oiAd] & AH 2l Nodia Activ SZt i F4Al= gt
AEXS0A BHEY MH[AZ AR = /ASLC

[01=]]

launch A|&ISHCH

vast grLCjjst

user AFEX}
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109, ------- contacting China’s business leaders, it is also
distributed to top government officials through a unique
partnership.

(A) In order to

(B) Only If

(C)As to

(D) In addition to

e D

[B14f] S20| AW XIZASOI Q2tste 2o Eoto]
122 £ SUR BAS St HE 19
Z2ASoH WEECH

[0 =]

in additionto ~0|| G50

be distributedto ~0f| HiZZ|C}, SE|C}
official &2

unique =E£35t

partnership SHtX} 2HA
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110. In ------- to strikes protesting the surge in oil prices,
France government cut taxes on energy to lower prices.
(A) respond

(B) response

(C) responsive

(D) respondent

[8E]B
B14] 4% 270] 3801 el Tl wesio
TZa2tA MHL J1749 LX)

x7
T
Mas a3

SE

in responseto ~0f E+23}0
strike I}

protest &O|S}C}, BHCYSICH
surge oAt

cut tax ZfA|SHCH

lower RFZ=LC}

111. With the Ritz Rewards Credit Card, experience the
same personalized service you have come to expect when
------- at the Ritz.

(A) stay

(B) stays

(C) staying

(D) will stay

["8E]C

[6]] ] Ritz Rewards Credit Card 2 24 Ritz @ HI(|
FEH [ &4 MHAE SN K.

[#]

experience G2SILt

personalized 7| @13} =, SF=AlQ|
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112. As a valued member, you'll enjoy hassle-free
vacation------- , daily cleaning services, and privileged
access to resort facilities.

(A) plan

(B) planning

(C) planer

(D) planed

[‘E]B

[ofM] T ot nHo=M d
MA MH|A, 2|RE A|AQ
A5 L E.

(O]

valued A~Z=l

hassle-free M7IA|X| Y& IHZ|St
privileged E#2

access M2, O|&

Ot
>
4 2
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113. Each bangle, individually priced at $190, is ------- with
special phrases utilizing a pink sapphire as a romantic
accent.

(A) inscribing

(B) inscribe

(C) inscribed

(D) inscription

KCH C

L
ZUMERS Zx5t7| flof 3 AMLIO|0{E O| 85T
st B7F MARCE

bangle &K

individually 7§88 o2, Zhzt

inscribe A{j7|C}

phrase {14, &2

utilize O|&3|LC}t

accent 4 =X
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114. Three years after its debut as a concept, the Blade
Loudspeaker system has finally arrived in ------- form.
(A) productive

(B) productivity

(C) production

(D) productively

["dE]C

[BilM] M HME2=2 252 LIEHH X
Loudspeaker A|ARI2 EC|O| ik HERFE A7
T AL

[#]

debut Ol7, & M

concept /&

finally EC|0Of, OrEILY

production At

form S Ef

115, ------- faces and a warm welcome are part of the
Swiss Airline nonstop flights from Eight American gateways
to Switzerland.

(A) Friend

(B) Friendly

(C) Friends

(D) Friendlily

[EE1B

[6A] XIS A2} [MFEESE 2hH 2 Swiss Airline 9|
8 7§o] O|ZOIAl AQAZ0| 3ol 3t KEo|C)
[0 %]

friendly Xl &St

gateway ¢
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116. One of the most important reasons is the lack of
software that gives ------- a compelling reason to replace
our machines.

(A) our

(B) ours

(C)us

(D) ourselves

[HEH C
[ofA] 22[0|A 2|2 7|AlZ2 WUX|St=SF St
o s MEY Qe AZEY O} Qs 20| Fad
0|85 2| BLto|L}.

[01]]

lack 5=

Compelllng 259 U, 48t
replace Ll A|SHC}

117. For more than a century, our system for protecting
Intellectual property rights ------- the creativity of artists and
Inventors.

(A) has fostered

(B) have fostered

(C) has been fostered

(D) foster

‘& A

[sil 4] 10 A O]y =t X[HMLAHE E2ot= FE[Q
AMAEE Ol=7I=0 2SS HoldE ZTHAIARC
[0=]]

protect E25}LC}

intellectual property rights X| & XjAr#

foster ZMSICEH 2™ A|7|C}

creativity &o|/d

inventor 2fH 7}
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118. The biggest concern for many ------- lose their jobs is
not that another post will be hard to find, rather it is that a
new job may mean a pay cut.

(A) which

(B) then

(C) since

(D) who

[BhA] 22 MES2| 71 2 A48A2= £ BE

dX2|E 7|71 2lE AO[2f= AO| OfL|Ef MZ2F
2Xr2|e] 207t A E[X]| RSt of= AO|L.
[0=]]

concern 4%

post X

pay cut g0 A
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119. The conventional view ------- economists is that
antimonopoly enforcement will decline in the next few
years.

(A) along

(B) with

(C) among

(D) into

‘& C

[SlM] X=Xt ALO|OA S| YEEHQl 745
oAl A|HO| o= B H S =0{& AO
Z 0| C}.

[02]]

conventional 2t=5A 01, 2y A Ol

view 745|

economist 4 X|skX}

antimonopoly =& ZX|

enforcement A|gH

decline ZAS}LCt
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120. Mexico and its business community have high

expectations ------- Imminent and proper policy changes.
(A) regarding

(B) regard

(C) regards

(D) regarded

EE1A

[BA] HA|TQF 1 AFYZEH = =2Z&o|0 MES|

HHMHDIE 0| 7[CfSHCt.
S

community &SA|

high expectation =& 7|LCj
imminent st

proper &t

policy ‘g*H

121. The market and economic growth have become
iIncreasingly interdependent through ------- confidence in
the future and the wealth effect.

(A) from

(B) both

(C) by

(D) either

‘& B
[SHA] A& A d&0] Oj2iof thet =k4lar F9
2 o106 B &= o|EXO0| K|RULH.

S E

interdependent A3 9|&=X Q|

wealth effect £9| & 1}

(7t 502 EXIFIS0| Y& 0]2FS AH|

e 87| gd=t =)

[OF

HOf
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122. Investors were ------- disappointed by the size of the
cut, even though the Federal Reserve has not targeted just
a one-time cut.

(A) great

(B) greatness

(C) greatly

(D) greatest

[[EEIC

[BHA] FAAES2 0|HY =H2™HO0
SHE oM EUSHE =70
CHERS] = Y RALE

[0 %]

investor EX}At

be disappointed by ~0f| 2|5l & SICt
greatly CHEHS|, 27

Federal Reserve 0|t F=H|23H

£l
H o
1z po
0>
:UJ?'._
K

123. Many economic experts in Spain say that whole and
retail sales are growing ------- now than they did at yearend.
(A) faster

(B) more faster

(C) fast

(D) fastest

[0%]
economic expert X MZ7t
whole 0O}

retail A0

yearend G2t
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124. One area that improved sharply was the trade deficit
In high-tech goods, ------- a steep drop in import growth.
(A) reflecting

(B) reflect

(C) reflects

(D) reflected

sharply 45t
deficit &KX}
high-tech HCLt7|=9|
steep 7IOIE

125. We can perfectly match the right investors ------- the
right start-up companies, so don't hesitate to contact us.
(A) of

(B) with

(C) except

(D) barring

[‘dE B

[BlAM] REl= SHIE FAAR MY 7|52 2HESH
AZA|Z|EZ FMSIX| OrA| D A TN K.
[0=]]

perfectly 2HEHSIA|

match ™ Z4S|C}
iInvestor EX}A}
hesitate Z=X{S}LC}
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126. Please note that the services offered in particular
areas may depend on local ------- :

(A) regulator

(B) regulate

(C) regulating

(D) regulations

[EE]D

[elMd] 58 XG0 HsE Me|L2= XG 80 Tt
SetE + US FEUMA.

[01=]

particular £E743t

depend on ~0f ZZ{RULCH ~0f| 2|5l 2=l Ct
regulation 78

127. 1t is obvious that ------- of the foreign money in the
world is heading to China, a new land filled with
opportunities.

(A) few

(B) many

(C) much

(D) several

[[8&=]C
[BH4] TAMASl B2 ohel X+=0| 7[=|2 7I53 MEE
Sl =2 o= 20| LY.

[0 =]
obvious HuisH
head to ~2 2FS}LC}

(@)
opportunity 7|2|
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128. There are ------- sensible leaders can take to boost
economic growth in many European countries.

(A) measurement

(B) measures

(C) measuring

(D) measure

[EE1B

[olM] B2 78 =7I=0AM Hd8s FEAI7|7
ol 28 Ue XEXASO| FEg = A= XS0
ALY

[0 %]

sensible 285 QA=

boost EQFA|Z|LC}

economic growth AX| A%t

129. The Manetois a ------- advanced chronograph that

takes a slightly different approach to innovative design.
(A) technological

(B) technology

(C) technologically

(D) technician

[EH]C

[0l A] Maneto = A AH Q1 C|XQle] k7 THE H
Y= Fote 7Isd 2z ddEl AFAK[0|C
[O1%]

technologically 7|s&o &2
chronograph A% X|
slightly 2FZt

innovative &AM 0Ol
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130. While the latest CX-900 bears a ------- to its
predecessor, virtually everything about the automobile is
new.

(A) resemble

(B) resemblance

(C) resemblances

(D) resemblant

[‘dE1 B
[8]4d] %|Al CX-900 7} O|F DI} SARMO| QUX|BE 1
ArESXH0| 2tk Aol B= A2 ML
[0 =]

bear 7FX|1 QULC}

resemblance SAFA

predecessor X}, O ZH(ZH)
virtually ApalAt

131. Cultural institutions ------- need to worry about overly
commercializing their programs in order to compete for
economic development funds.

(A) they

(B) them

(C) themselves

(D) their

of HHE 222 X g A= fle
s of7] /ot X|LX|A =238 S JEetole
Z0f CHSHAl Z=4I5HOF L.

[O#]]

institution 7|&t, 33|

overly X|L{X|A|

commercialize & &3S}

compete for ZAMSICH

=
=2
-4
@)
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132, ------- two years, industrial companies both in the U.S.
and abroad pumped out goods to satisfy consumer and
business demand.

(A) During

(B) While

(C) For

(D) Since

[EE]C
[sfA] 2 A =0 Oj=1 3fi 2|2
BAL =28 SFA717] %5t
AHAFSHL],

O - AN

[0=]]

pumpout T2 A3 HLSICE ZOFLHCE
goods AM=

satisfy Br=A|7|C}

demand =82

He
O

2 [>
Ob—

133. Corporate recruiters frequently say that thousands of
workers lack skills ------- In @ modern economy.

(A) need

(B) needs

(C) needed

(D) needless

[EE]C
[SHAM] SIAL X8 BHEXE2 235 =2 XAS0| 3f

o

M0 €83t 7|=0| B55ICHn ZotCt.
[02]]

corporate 2| AtQ]

recruiter A& ErEEX}
frequently X}, =9]

lack E=5}C}
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134, -——---- could be the first step toward a free flow of
electricity across national borders.

(A) Approve

(B) Approval

(C) Approving

(D) Approver

S
electricity M 7|
national border =24

135. Liberty Air was ------- one of the smoothest-running
airlines in Europe.

(A) soon

(B) usually

(C) once

(D) currently

[EE]C

[6H 4] Liberty Air = oF [f RE0M 7tS & 2Bk&=
SSA S| SR

[O11]

smooth-running =X &4 24 &[=

airline a3 A}
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136. Lower interest rates also have the ------- to boost
business investment and send investors back into the
stock market.

(A) potential

(B) potentially

(C) potentialize

(D) potentializing

‘A& A

[BM] X2 O[XtE2 FAE el FAKIEE CHA
FANTOR S8 B B 7K1 YCh

[0 =]

interestrates O|X}=

potential ZrA{=

investment EX}

investor EX}X}

stock market =AIA|&L

137, ------- the overall market has plunged since Jan. 1,
Geneva Motors and Tera Industries rose 5% and 7%
respectively.

(A) Despite

(B) Nevertheless

(C) Even

(D) Although

[EE]D
[ohAM] 12 1% Of2f= XN A|HO| a=HUS0 =

215l Geneva Motors 2} Tera Industries = Z+Z+ 5%,

700 AbZ3H |:|-__

O O AN
YE|
overall HHIA O]
plunge 22ttt
Z
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138. Because their views ------- , the advisers are having a
hard time shaping a response to the deteriorating situation.
(A) different
(B) differently
(C) differ

(D) differs

[I—I |:|-] C

[elM] 1=2 #H5
OAotE|d U= o4
ULE.

[0=]]

view 746}

differ C}2LC}
adviser =K}
deteriorating 24stx|0 QU=

o s

7f Ch27] =0l Oﬁf%c’
of g-Sst= ol dEs 7t

olor

139. It is an undeniable fact that the technological ------- of
the past few decades have fundamentally transformed
business.

(A) advance

(B) advancement

(C) advances

(D) advancing

‘& C

[BiAM] K|t =4 HIEO| 7[= &0
HZEL|AS HotA|FICEtE A2 Bolg = Sle
AFA O CF.

[0=]]

undeniable £20lgt &= Q=

advance &HA
decade 10 4
fundamentally 22X o2

>
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140. If you have not receive an invitation, ------- believe you
should attend, please contact us immediately.

(A) so

(B) in order that

(C) but

(D) however

[HE C

[s#M] 2rof Alo] OFX| ECHES WX 2yK|E B
A OF SO SA| X of|A HESHTM K.
SE

invitation Z=CHA

immediately SA|

141. By now, nearly everyone ------- the Internet to connect
with experienced employees, loyal customers, and reliable
suppliers.

(A) using

(B) use

(C) has used

(D) to use

[d&]C

[S§AM] O|X| He| RE Atzto| ZHAHZIo| %I
DHE, AR BIARES AZI| 93t
CIEEIES A0 2 QUL

Y

nearly 7{9]

connect AHZAGSIC}

experienced A3 0| B2, HAHZXIQ]

loyal &40k

reliable 2 =205t
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142. Please register now to ------- for the early registration
fee and a free year’s subscription to Best Seminars.

(A) qualify

(B) qualified

(C) qualification

(D) qualifying

‘A& A

[l M] =7| S=H[2| 5EiE FE2[A[2HEH Xz
SESIA|D BestSeminars @3 22 FAE=5HML2.
S

register S5 SfC}

qualify for ~o| X}A40| E|Ct

fee H|E, Q=

subscription ft=
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143. At Vaventa, one of the leading pharmaceutical
companies, we offer doctors highly

patients with allergies.
(A) effective

(B) effectively

(C) effect

(D) effects

[[EEIA

[BHAH] dFHC Me=lAlE 2| ofLtel Vaventa 0f A
OIMSOA EeE7] 2AtE e Oi? =0tHQ

K Z2XNE M-St

[0 2]

leading M 5=A Ol
pharmaceutical X|2FQ]
highly Of<$

effective 21X 9l
treatment X| =X
patient 2tX}

allergy &2{ 27|

treatments for

—

—
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144, Mr. Yoshimoto was one of the few executives
regularly to point out flaws in the company’s marketing
(A) strategic

(B) strategy

(C) strategically

(D) strategize

‘3B

[oll 1] Yoshimoto = =|AtQ| OrAHE H=OM AT S
S78c = X|Hst= R ¢ E|l= 9= 52| ¢
HO|ALCT.

[02]]

executive ZtH&, 2 =4

pointout X|XSILC}

flaw 4t

145. Ladix Motors that once was regarded as the country’s
most innovative carmaker ------- In decline for three years.
(A) have been

(B) was

(C) being

(D) has been

[EE]D

[ofA] o M =7t0 N 7t A HE R ArsXH =N 2
o A& E Ladix Motors 7} 3 & =9I &}2HA|O|C}.

[01#]

once ot IIj

beregarded as ~Z O 7 X|C}

innovative &AM 0Ol

carmaker XX X Z KN

beindecline E|=x
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146, ------- Germany is more export-dependent than its
euro zone partners, German growth is especially
vulnerable right now.

(A) During

(B) But

(C) Since

(D) That

[d&]C

[olM] == OHE 72 =7I= B = 20
O|ESt= =710|7| W20 =2 982 E89| ©X
T 2FSHL}
Y
growth A%t
especially EE7|

vulnerable F| <ot AHkol

147. Corporations are ------- cutting back on their high-tech
spending in order to restore shrinking profits.

(A) current

(B) currency

(C) currently

(D) currentness

[‘8E]C

[BlAM] 7|®€E2 2X &46t= O|YE 2|=517| 5t
EHE MY BEH K== =0/ UL

SE

corporation 2|Af

cut back on ~= =O|LC}

spending X|&

restore 2| = A|7|LC}

shrinking 2X2|=, &dA5I=

profit 0| <]
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148. Itis unclear ------- Interest rate reductions can deal
adequately with a foreign investment cycle.

(A) that

(B) even if

(C) what

(D) whether

[‘dE1D

[SHA] O|X} &7t sl Xt F7|& S25| &Y =+
UASX|= =25
SE

unclear S2HAlSH
interestrate O| X}
reduction =2, ZtA

deal with C}&CF, 2| SHC}
adequately = &£9|, MET]

149. According to the statistics, the ------- of cheese made
In Switzerland have increased drastically from 70 to 160.
(A) variety

(B) varieties

(C) various

(D) vary

[‘dE B

[AM] A0 M= AA0M TS0 X|=2
S&F= 700X 160 7tX|2 545H S7t3UCT.
[0=]]

accordingto ~0f = H

statistics S|

varieties ==

drastically &45}A|
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150. Please note that this information is stored in a secure
location and that accessiis limited to ------- persons.

(A) authorize

(B) author

(C) authorizing

(D) authorized

[I—II:I-] D

[siAd] O] dE= ot 20| MYE1 ¢
AFEO AR E 20| HMgteElti= AS =59
[01&]

note +==05}LC}

store X Z&tSICH

secure QtX sl

location &2

access ™2

be limited to ~0| X|2tk|C}

authorized =@l =l

>
o ™

151. Many companies are more ------- about shifting their
business to the Net these days.

(A) cautious

(B) caution

(C) cautiously

(D) cautioning

[HEH A
[clM] E2 2AE2 223 QU A2 =9 Tt
CHSH A &l SOt

)

cautious A=l ZAMARL
shift HFLL}
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152. Most critics found QuickClick the least ------- of the
services they tried.

(A) usage

(B) usefully

(C) useful

(D) uses

[EE]C

[olAd] CHEE22| H[H =2 QuickClick 7| 10|
O|8}HE MH|A T 71 B FESICr H23UL
[01=]

critic H|&™@7}

useful K8t

153. The recent findings suggest that bruxism is not only a
serious medical condition, but also ------- common.

(A) extremity

(B) extreme

(C) extremely

(D) extremer

]1C
M] % 20| Hate XBIM 0|2 JHe 20| Mztel
FofL|zt 0 B3 Yo|ctate S

bruxism (XtHA]) O] Z7|

notonly ~ but also ~220} OfL|2} ~EE3t
medical condition &

common =5t HXE9|
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154. Companies until now ------- to protect their budgets for
such crucial things as technology spending.

(A) managing

(B) have managed

(C) manages

(D) have been managed

[8&]B

[oHAM] 2(ArS2 XE7HX| 7| X|Z23t €2 58°¢
OlatE A X[AZLE

[01%]

until now X|Z7tX]

mangetoV % ~S}LC}

crucial =279t

155, -—---- nonsupervisory employees greater
Independence and responsibility is good for both them and
their employers.

(A) Giving

(B) Give

(C) Gave

(D) Given

[EE]A

N
A2 A= 18F ZR0A &2 0|0}
(03]

nonsupervisory H|2t2| &l 9]
independence = gl/d

responsibility %l
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156. The latest data suggest that the imbalances in the

economy ------- cleared away in a manner that will allow
growth to pick up shortly.
(A) is

(B) has been
(C) are being

(D) being

[d&]C

[ofA] =4 HO0[H= & M7t 7idE A2z HOo|=
YECZE M =cd0| HOX|L Ctet=s A=

B =L

[0 2]

imbalance 4%
clear away X|SLC}
pickup 7M™ E|C}

157. To comply with the new standard, the American Water
Association ------- that at least 10% of the nation’s water
providers must do some serious cleanup.

(A) estimates

(B) estimating

(C) estimation

(D) to estimate

[EE]A

[HM] MER 7|&E2 E517| ?5tH the American
Water Association 2 %At 10%°| =X|& X7t
CHEH A Q1 HotA &= ofOF ohbpal =3t

Y

complywith &===3}LC}, X|7|C}

estimate = SIC, F=ASIHCE

cleanup A, 3t
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158. Our ------- personal account managers are here to
help you every step of the way, 24 hours a day.

(A) experienced

(B) experiencing

(C) experiences

(D) experience

[l M] f2(e d=”0| B2 7Hel Azt HEHA7F o=
24 A7 Of =78 S EF7| 5] o7[0 UsLLCH.
SE
experienced 40| B2
personal account 7§91 Al ZE}
every step of theway 0Of =7t

159. One of the main goals of a fiscal overhaul ------- to
protect public finances against sharp swings in oil prices.
(A) are

(B) have been

(C)is

(D) being

‘& C

[iAM] 2[A 28e =23 5= AR/HE2 4%t
HSO=2RH SSMES E=5t= AO|LCt

[0=]]

goal = H

fiscal 2|A|Q|, A|™H 9|

overhaul 84

public finances &5& ™

swing H&
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160. ------- 3% of the labor force, more than 2 million
people, work for travel agencies around the world.

(A) Nearly

(B) Most

(C) Overly

(D) Mostly

["EE]A

[BlM] HMAHLZE =5 272 Ho| 3%, 2 HEHE
O]t 0] C{AAO| A ZSHCY.

[01=]

labor force ==&, =& °Ol{

travel agency Of 2 At

161. We are also helping farmers ------- the quality and

yield of crops through integrated crop protection and
production.

(A) improved

(B) improve

(C) improving

(D) improves

[I-I |:|-] B

[BHA] Q2ls E3 S3HE SN2 250 YMe £
SEE2 sAHE2 FHEN =S A7 = AS
==Lt

[0=]]

yield i, A=, A2, F=2tE

integrated S32% 9l
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162. Fingerhut Co. will improve profitability by focusing on
online retailers ------- business s less seasonal.

(A) which

(B) that

(C) whose

(D) who

[‘8E]C
[6l 1] Fingerhut Co.= A& 0| A&t
2SS0 ESH2EZN =98
[O1%]

profitability =24

focus on ~0|| &=3}LC}

retailer 204
seasonal A &2

i=2
=
L=3
=

163. We need to encourage foreign investment by cutting
taxes and ------- foreign ownership of companies and real
estate.

(A) permits

(B) permission

(C) permitted

(D) permitting

[8E]D

[BHAd] 22l= Mz 480 AL F35402| S L
~2rdE SHT2EMN die FEAE 8y ER27 U
[O1%]

encourage &eistCt, #&SHD}
foreigninvestment S| 2| EX}
cuttax M= 4H

ownership 2&7(H)

real estate £=4t
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164, ------- high-tech dynasties such as NBM or Nitrosoft,
Violet Tech'’s grand plan is not based on locking customers
Into its own proprietary technology.

(A) Likeness

(B) Unlike

(C) Likely

(D) Alike

‘3B

[6 A1 NBM O|L} Nitrosoft 2f Z&& ®Ct 7|=2

CH7| Y 0t= CF2A| Violet Tech 2]

7198 SsE487I 22 7|20 FOHEFEE A= 7|He=
StA| =L

[0=]]

high-tech Lt 7|=9]

dynasty &=

grand plan C{ A=l

proprietary sS4 H7} 22

165. Another team is making sure that all new products
can be monitored ------- from one of the data centers.
(A) remote

(B) more remote

(C) remotely

(D) remoteness

["dE] C

[olMd] &= Cr2 &2 OOl ME & of oA EeElME
MAEES 25 EAE = JA =S St

[02]]

make sure ZHAISHA SICH

remotely |
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166. One reason ------- the slowdown is the 170% rise in
the price of gasoline since January, 2015.

(A) from

(B) at

(C)in

(D) for

[E&1D

[ofA] 2015 = 1 & O|2i =2 7 7142 170% Q10|
=2rof o A l0[L}

[O1%]

reason O|fF

slowdown =2

gasoline 2|2 H

167. Uno Express is the largest delivery company with
more vehicles, more facilities and more ------- people all
over the world than any other delivery firms.

(A) dedicating

(B) dedicate

(C) dedication

(D) dedicated

[‘8ED

[6] A4] Uno Expres
= A, Al
3| AFO|C}.
SE

delivery Hi&, HHE
vehicle X}2F
facility A|A&
dedicated S AIA QI

S HMMA 2 oL SlAbECH B2
A

%ol HASS RS Hhe v

S
A
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168. TVM Co. has been heavily ------- on income from its
credit card business, which accounts for 56% of operating
profits.

(A) dependable

(B) depends

(C) dependent

(D) depending

[‘8E]C

[Sl 4] TVM Co.= 29 0[] 56%E XX|St= 4IE
7tE AtROM el =Ri0| &5HA 2fE5tn QUL
SE

heavily MSHA|

dependenton ~0|| °|&3|=

income ==¢l

account for ~XtX|StLC}

operating profit 2% 0|2

169. JEC has already started working on its R&D in
Singapore, ------- it will first launch its commercial services.
(A) which

(B) what

(C) that

(D) where

["dE]D

[6i4d] JEC = O[0] ML= 4E& MH|AZE &
G720 M| AR S A[ASHRL

[01=]]

R&D A7 (Research & Development)
launch 7 A|SHCH

commercial 29|
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170. To offer ------- satisfaction to every customer, we
provide indispensable temperature and humidity controls.
(A) completes
(B) complete

(C) completion
(D) completely

satisfaction Ot=
indispensable SI{A= ¢ &&=
temperature 2

humidity 5%

controls =& &X|

171. Please make sure that you should avoid monitors
more than 24 inches ------- you know that there will be
space for it.

(A) because

(B) if

(C) now that

(D) unless

[MEH D
[olM] =<¢F 2E7F =S
DL H= I3tM L.
[0=]]

make sure ZtAISHA| SICH
avoid I|S}CH

space &t

>
PO
r_E
N
N
o
Ras
o
0>
|O
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172. Offering greater job stability might make workers
more loyal, but that doesn’t seem to be a big ------- for
most companies.

(A) considering

(B) consider

(C) considerate

(D) consideration

‘=] D

[elAM] &g oHEd=2 AEEE H= S85HA SEX|T
R 22| 2AE0A ANME= St A Aol OfH
Ao 2 HOILCL.

(O]

job stability 21 otM M, 118 Ot-HM

loyal =4&¢t

seemtoV~2 2 HO|LC}

consideration 1 2{Alat

173. As the electronic systems become more ------- to
power outages, the need to protect data has never been
more important.

(A) sensible

(B) sensitively

(C) sensitive

(D) sense

["dE] C

[SHA] TXt A|AEO| OF FH0| BdsH7| W0
OOl 239 22480 1 O I 20t SK25{RC.
[02]]

electronic M X}Q]

sensitive B1ZtSt

power outage ™M
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174. Some Taiwan companies design affordable chips
------- In personal computers.

(A) used

(B) used to

(C) use

(D) to use

[EE]A
[oHA4] EF T 2A=2 7HE AFHE AEEE
O

affordable 7f40| ™MEtsSH
personal computer 7l| 218 AH+HFH

175. There also is a ------- that smaller manufacturers will
simply misjudge the demand cycle and capsize in the next
Industry shakeout.

(A) dangerous

(B) danger

(C) endangered

(D) dangerously

[EE1B

[olM] &2 MZYAHC| 8% 8 F7|& X EEBHA
Cr= €A A mof 2 01 HEs A= 7

ULF.

[013]]

misjudge &% LZCESIC}

demandcycle =2 7|

capsize T & 95|C}

shakeout TEff, Z2F, AN
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176. Nearly 65% of people who exercised for just 30

minutes a day saw a marked improvement in ------- sleep
and energy levels.

(A) they

(B) them

(C) their

(D) theirs

[EE]C

[ol ] StF0| THX[ 30 2 23t AR =2l A2l 65%7
A oK 2= AN FHot 2= ERL
[01=]

nearly 79|

exercise &&0o}L}
marked E=E15H
improvement k2t

177. We have always believed ------- If we put our
customers first, we would come out on top in global
markets.

(A) what

(B) which

(C) only

(D) that

[EE1D

[cHAM] F2[7F nA4S ZRH2=E StH K2[7F JA
AMHOUAM OlZ Aoz g B=Ct.

[013]]

comeoutontop (A, AT Al O|7|Ct

global market AM|A A|%
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178. Meanwhile, some industries faced with a power
shortage ------- matters into their own hands.

(A) are taking

(B) is

(C) has been taking

(D) takes

[EE]A
[BhM] = =9 &0 HH
s

rot
no
I
K%
it
u[n
rlo
| >
| >
Hu

=1 L
O ZX|E ol &3t X} oLt
[0=]]
meanwhile otH, 1 Ot
power shortage M & 2=
take matters into one’s own hands X}7| AAZ2 A=
X 2| sFCt

179. We want to make sure that all information is totally
secure and customers would only have access to -------
own accounts.

(A) they

(B) their

(C) theirs

(D) them

[‘dE B

[BlM] E= HEV MHC=E QS IS
K21 Rpdlel AEe H2e = UCtet=E A=
ol7| fIstC}.

[02]]

totally 283, ™Mo 2

secure 9FX Sl

haveaccessto O 2 #Hot=2 7tX|0 QIC}
account AN, AZ}
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180. We offer you not justa ------- range of business ideas
and technologies, but also the expertise to make them
work for your individual business.

(A) broad

(B) broadly

(C) broaden

(D) broadest

R A
[BHA] 2/ 0hS ChFst ALY 0bo|C|ojet 7|2 ato]

OfL|2t IHSS DAl Ztzto| ALOIA & B8 =
Qe HMEX|AlE HEeLct

Y

abroad rangeof Ot LC}YSH
expertise MZX|Al, 7=
individual Z}Zy9|, 72l 9]

181. Most vendors are ------- stingier than they used to be
when it comes to warranties and technical support.

(A) more

(B) much

(C) very

(D) ever

[8E]B

[HAM] CHE 22| HOjASS B4 7= X0 2tdf
ZOtAtH WAL g o 2AMSHTt

[O1%]

vendor ZHO{ 2t

stingy 21t

when it comes to ~0f 2ot ZSHX}H

warranty 2%

technical support 7|= X|&
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182. Each of the major shopping malls in Asia, especially

Hong Kong, ------- something the others do not.
(A) offers

(B) offer

(C) offering

(D) to offer

[EE]A

[0l A] OrA|OF, 53] 8329 =8 4~¥8=2 LtE
4 =0| HS5HA| e S8 AS M-St

SE
major =25t
especially EY7|

183. Many Mexicans believe that selling off state-owned
companies ------- to higher prices and worker layoffs.

(A) lead

(B) leading

(C) leads

(D) leader

sell off ~Z MtAH ot X| L}
state-owned =g 9|

lead to ~°| AIIE 7ML}
layoff Sf| 1
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184, -—----- to incinerators has grown during the past
several months because of greater concern about dioxin.
(A) Opposing

(B) Oppose

(C) Opposite

(D) Opposition

[EE]D

[6]Ad] AZtZ HICH ©|740| CHO|=2Al0| 24SH AlZtSH 253
M=o X H = 52 AR

e

incinerator &~Zt2
dioxin C}O|=4l

185. We will begin introducing new service with 55% more
legroom and 150-degree recline ------- November 9, 2015.
(A) as of

(B) up to

(C) along with

(D) by means of

[EE1A

[8144] 2015 1 11 & 9 YRE L2& 55% SO{L
ChelE B2 = e O sS40 150 22 FE2
K= M2 MHAE A7fE

[01%]

legroom CIZ|E& WE £~ A= F7t

recline f|2 =2 &= U= U
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186. If you are interested in acquiring or ------- In
businesses in Europe, log on to www.findeuro.com today.
(A) investment

(B) investor

(C) investing

(D) invests

1)

oF 782 EME QotALE FX5t= A0
oAl Q1O A|H Q= www.findeuro.com 0ff M=5HM 2.
SE
beinterestedin ~0f 2tA QILC}
acquire Ql==5}LC}
invest EX}S}CH
logonto ~0f Z=9|C}

187. Haudi Corp. is maximizing its shareholder value by
------- Improving its financial structure, as well as by
developing management skills.

(A) continue

(B) continuous

(C) continuously

(D) continuity

‘& C

[oll 4] Haudi Corp.= 8% 7[=2| 7HE =T OfL|2t
ME AZE SFMHALEN F=F 7HX|E X|CH=}ttCt.
SE

maximize Z|CH=}SICH

shareholder &=

continuously AH|Z38j A

financial structure |52 =&

as well as ~220F OfL|2t

management 4
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188. A different management structure and plan might also
buy time for the new CEO to ------- his own team.

(A) solid

(B) solidify

(C) solidly

(D) solidity

1%

Ao CHE 83 72 A=l2 19
2= =19 of=h AlZhkE BOlE X = EEL

189. Mr. Kensington began hiring outside auditing firms to
Inspect supplier factories to ensure their ------- with the
safety regulations.

(A) compliantly

(B) comply

(C) compliant

(D) compliance

‘=] D

[0l ] Kensington 2 558N 382 ot fd &=
2teotA ot7] 25t F 2|A AAF BHE

S E

auditing 2| A ZA}

ensure ZASH SHC}

compliance &=

safety regulations t8 ™
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190. We conducted our survey completely online, which
enabled us to exploit the power of the Internet to produce a
vastly more ------- poll.

(A) precisely

(B) precision

(C) precise

(D) preciseness

‘& C

[oilM] £2|= o0& Z2sot o
2= 0|&5t= 24st 2e¢l
SE

conductasurvey 8 E2ZXAIE A A|GIC}
completely 2tX 5|

exploit O|235|Ct, =& 3}C}

vastly CHEFS|, HELEA

precise J=lst

poll = KA}
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191. It is not unreasonable to encourage more competition
In the energy business in the hopes of ------- ambitious
goals.

(A) achieving

(B) achievement

(C) achieves

(D) achievable

[[EEIA

[BHA] OFy A= SEE dFcts As 3ol OfHX|
A =0fe| ddE gofole A2 =gl A2
OfL{LCF.

[O1%]

unreasonable =3%!2|st
encourage X z{siCt, #HZESHCE
competition 474

in the hope of ~& 3|5}0
achieve M Z|s}C}

ambitious OfAl Q=
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192. To ------- the anxiety and financial pain of a job loss
due to changing economic conditions, an economist
iIntroduced a plan called wage insurance.

(A) ease

(B) easy

(C) easily

(D) easier

[‘ETA
[l AM] Bt B4 &2 &
MNEH 155 2t25t7| 25t o X< A7}
HHO|2t= A=E 70UCtH
[0=]]

ease L2t3tA|Z|CH

anxiety ¢, 4, 9
jobloss & &l

due to ~[j| 20|

economist A X| sk}
wageinsurance 50| £

]
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193, -—---- central bankers around the world are focusing
on weaker growth, policymakers in Brazil are concentrating
on increasing inflation.

(A) Because

(B) Nevertheless

(C) Provided that

(D) While

[‘dE1D

[BiM] ™ MAS 5 2d=2 2ot d&80| ESot=
HIHO| EctEol EHM /KE2 F71°

St

[0=]]

focus on ~0f &=5}C}

policymaker X Q1OFX}

concentrateon ~0|| Zl=95|C}

inflation S} %t

194, -—----- offering cheaper rates for tailored services,
Mera Travel Co. raised revenues by more than 50% this
year.

(A) In

(B) As long as

(C) By

(D) In case

[EE]C

[8HA] QAL MH|AO| MBS QS K322 M
Mera Travel Co.= 23} 50% O|AF =~ol= 2 &L}
[O1]

rates 24

tailored &0

revenue =9
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195. The auditors found that the assembly line had
numerous problems, ------- overtime violations and
excessively long hours.

(A) include

(B) includes

(C) including

(D) included

[EE]C

[B14]] SIAZARISS £ 28
S AlZEDE 22 X3 2tolo] 4pe
] LY T

[043]]

auditor 2| AH|Zr ALK}

assemblyline &g 2}Ql

Atk X|LEX[A 2

ME=s=

violation 2|Ht
excessively X|L}X|A
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196. Every year in Indonesia, ------- population growth is
1.6% annually, some 2 million young workers enter the job
market.

(A) which

(B) with

(C) despite

(D) where

[ D

[H4)] 17k Q17 Z7H7t 1.6%Ql Q= |A|oHs of
200l F2 L EXIS0| TE AFOR S0jZict
[#]

population growth @41 A%Af

annually S{OCH

job market 7+&1 A|Z&t

197, ------- financial problems and internal affairs, the
company strives to persist with its year-long restoration
plans.

(A) Even though

(B) Even so

(C) Nonetheless

(D) Despite

[‘E]D

[SHAM] MEH o= WE 2oz =+t 1
olAtE Y LU A== 2l5 A=E X[551H7] /6
L &SI}

S E

internal L& 9|

affair &=A4A|, &

striveto V 2EG}LCt

persistwith X|ZStC}

restoration 2%, 24, 3|&
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198. Eventually, companies will realize that spending on
high-tech ------- their productivity and profitability.

(A) increases

(B) increasing

(C) increase

(D) to increase

[‘SEA

[M] 2= 2AE2 Z2[EE 7|20 X|Z5t= A0
dabddr =ddE =9 = UL

SE

eventually 2=

spending X|&

high-tech X|HCE 7|=

productivity A AHM

profitability =2l

199. Some ------- are not convinced that a tiny company
will be able to survive the brutal competition.

(A) profession

(B) professor

(C) professionals

(D) professional

e C

[BIM] U8 HEIISS B SATE TS AYOIA
MopgS 4 QUSX| TAISHK| L)

CE]

professional X &7}
be convinced that ~2}
brutal Xr=35t, ESH

vy T 1
competition 474

-
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200. As a valued client of NIA, you know that you can rely
on an integrated network of financial specialists -------
around the clock, around the globe.

(A) work

(B) worked

(C) working

(D) works

‘& C

[6jAM] A=t NIAS| NZHO Z Al N MAHHEOZE 24 A|Zt
L ote ME ME71e sgE HERIAE Mg
= ACrEt= Ads g1 UL

[02]]

valued A=7dl

rely on o|E5SICE, A EZ|SHCE

integrated S =l

aroundthe clock 24 A|ZF LHLH

aroundtheglobe M MNAAHCO=E



